e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




Rot sy

= Land SAAB
9 3 1st Gen 1998-2002
. |

SA-14110 SA-16306

Stabilizer Link

Suspension Control Arm and Ball Joint
Assembly

Front
L=35mm Front Right Lower
Ch.N0:S2012272->S7014773->
4544599
4543468
SA-16307 OP-12402
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Left
Front Left M16x2Rht
Ch.N0:S2012272->S7014773->
90373519
4543450
|
SA-20616 SA-20615
S~ Control Arm Bushing Control Arm Bushing
! Rear Center
4645974 4545711
OP-12401
Tie Rod End
Front Right
M16x2Lht
90373520
2nd Gen 2002-2009
OP-13475 FT-20116
Axial Joint Control Arm Bushing
Front Front Inner
Only:16,17ingdant M14x1,5-L=285mm 4566899
1603416
FT-20391 OP-14470
Control Arm Bushing Stabilizer Link
Front Right Lower Inner Front
93171448 L7352.5mm
51741130
OP-18400 OP-16477

Suspension Control Arm Repair Kit

Front

0-476-0-477/0-471 -O-472/%—f1477'%&%

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

352051

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land SAAB
2nd Gen 2002-2009
|
OP-16476 OP-13473
Suspension Control Arm and Ball Joint Axial Joint
Assembly
Front Inner — —
Front Right Lower M14x1,5-L=284mm
352052 93172256
|
OP-12472 OP-12471
TieRod End  Tie Rod End =
Front Left Front Right
M14x1,5Rht  M14x1,5Rht ___@
5239314 5239322 .
1st Gen YS3E 1997-2002
|
OP-14411  OP-12441 .y
Stabilizer Link Tie Rod End 521
Front Front
Only:MexicoType L=243mm M14x1,5Rht &
5236823 90512775 e
|
OP-13442 SA-11405
Axial Joint Ball Joint
Front Front Lower
Only:ZFSteering M14x1,5-L=344mm 4835740
324186
OP-11405 OP-444
Ball Joint Lateral Arm Bushing
Front Rear
D=018mm 95496700
352830
1st Gen YS3E 2002-2010
SA-13413 SA-11414
Axial Joint Ball Joint
Front Front Lower
M14x1,5-L=286,5mm 5237516
5239330
SA-16418 SA-16419
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
5236682

Front Left Lower

5236674

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

SAAB

1st Gen YS3E

2002-2010

SA-16418N

o Suspension Control Arm

Front Right Lower

SA-16419N

Suspension Control Arm

Front Left Lower

5236682 5236674
OP-12471 OP-12472
X TieRodEnd  Tie Rod End
Front Right Front Left
M14x1,5Rht M14x1,5Rht
S 5239322 5239314
1st Gen
CH-16908 CH-11184
Suspension Control Arm Ball Joint
Front Right Front Lower
25786775 X4
8191336700
CH-16909 CH-14186A
Suspension Control Arm Stabilizer Link
Front Left Front Right
25786774 Steelype
15918822
CH-14187A
Stabilizer Link
Front Left
steeltype
15918823
900 1979-1993
| |
SA-13303 SA-11105
Axial Joint Ball Joint 6/
= Front  Front
M14x2Rht-L=266.5mm 8993321
8988941
|
- SA-12101
' Tie Rod End

"
Front
M14x2Rht
| 8993354

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land SAAB
900 1993-1998
SA-16306 SA-16308
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Right Lower
Ch.N0:52012272->S7014773-> Ch.No:>S2012271->S7014772
4543468 4248449
SA-16309 SA-16307
S Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Front Left
Ch.No:>S2012271->S7014772 Ch.N0:S2012272->S7014773->
4248431 4543450
SA-14200 OP-12401
A~ Stabilizer Link Tie Rod End
Rear Front Right
L=112,5mm M16x2Lht
8958944 90373520
OP-12402 SA-20616
Tie Rod End Control Arm Bushing
Front Left Rear
M16x2Rht 4645974
90373519
SA-20615 SA-14110
Control Arm Bushing Stabilizer Link
Center Front
4545711 L=35mm
4544599
9000 1985-1998
SA-12201 SA-11205 W
Tie Rod End Ball Joint =
Front Front Lower
4 M14x1,5Rht D=@20mm
8993453 8972135
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
A Front Right Lower Front Left Lower

8958365S

8958373S

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

SAAB

1985-1998

SA-16206N

Suspension Control Arm
Front Right Lower
8958365

SA-16207N

Suspension Control Arm
Front Left Lower
8958373

SA-20520

Control Arm Bushing

SA-20521

Control Arm Bushing

-

Front Outer Front Inner
) 8965253 8961476
99 1972-1987
| I
SA-14110 SA-11105
Stabilizer Link Ball Joint 6—’
Front Front
L=35mm 8993321
4544599
- SA-12101
Tie Rod End
|
Front
M14x2Rht
8993354

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

8

info@parsrot.com






